CITY MANAGER'S REPORT SEPTEMBER 12, 2022 CITY COUNCIL REGULAR MEETING

ITEM:APPROVAL OF CHANGE ORDER NO. 2 WITH NEXTGEN
ALPHA UPFITTING FOR THE PURCHASE AND
INSTALLATION OF POLICE VEHICLE EQUIPMENT FOR
RETROFITTING OF EXISTING POLICE DEPARTMENT
FLEETRECOMMENDATION:Adopt Resolution Approving Change Order No. 2 with
NextGen Alpha Upfitting for the Purchase and

Installation of Police Vehicle Equipment for

Retrofitting of Existing Police Department Fleet

SUMMARY:

On June 29, 2022, the City of Lathrop Police Department (LPD) took over law enforcement services from the Sheriff's Office. The Sheriff's Office gradually began returning the Lathrop Police Services (LPS) vehicles back to the City. Staff reviewed and inventoried the vehicles that were returned and identified four additional vehicles that would remain in the Lathrop Police Department's fleet. The vehicles are two Chevy Tahoes that will be retrofitted as Watch Commander vehicles, a third Chevy Tahoe that will be used as our third K-9 vehicle, and a Ford Fusion that will be used as our Community Resource Officer vehicle. The City has contracted with NextGen Alpha Outfitting (NextGen) to outfit all of the City's new and existing police vehicles. As NextGen received each vehicle to retrofit, they identified additional equipment and components for the nine LPS vehicles that were not in the original approved contract.

The cost to retrofit the four additional vehicles and the additional equipment for the nine LPS vehicles is estimated at \$123,676. There are sufficient funds in Capital Improvement Project GG 21-11 to cover the cost of the contract. Staff recommends that City Council approve Change Order No. 2 with NextGen Alpha Upfitting for the purchase and installation of police vehicle equipment for retrofitting of existing police department fleet.

BACKGROUND:

At the March 22, 2021, Special City Council Meeting, Council directed staff to create Capital Improvement Project (CIP) GG 21-11 to begin the creation of the new Lathrop Police Department, and implement the transition of law enforcement services from the San Joaquin County Sheriff to the City. Council approved the purchase of new police vehicles and entered into a contract with NextGen Alpha Upfitting to upfit our new police vehicle fleet. On May 16, 2022, Council approved Contract Change Order No. 1 with NextGen Alpha Upfitting to retrofit nine LPS vehicles, two Motorcycles, and two Animal Control vehicles.

CITY MANAGER'S REPORT

SEPTEMBER 12, 2022 CITY COUNCIL REGULAR MEETING CHANGE ORDER NO. 2 WITH NEXTGEN ALPHA UPFITTING FOR THE PURCHASE AND INSTALLATION OF POLICE VEHICLE EQUIPMENT FOR RETROFITTING OF EXISTING POLICE DEPARTMENT FLEET

On June 29, 2022, the City of Lathrop Police Department took over law enforcement services from the Sheriff's Office, and the Sheriff's Office gradually began returning the LPS vehicles to the City. As NextGen received each vehicle to retrofit, they identified additional equipment and components for the nine LPS vehicles that were not in the original approved Change Order No. 1.

The Lathrop Police Department has been in operation for over two months and there have been staff changes within the department and two new police officer positions added. Staff has reviewed and inventoried the returned vehicles, and has identified four additional vehicles that will remain in LPD's fleet. The vehicles are two Chevy Tahoes that will be retrofitted as Watch Commander vehicles, a third Chevy Tahoe that will be used for our third K-9 vehicle, and a Ford Fusion that will be used as our Community Resource Officer vehicle.

The table below shows the price change from Change Order No.1 and the requested additional cost for the four vehicles that are requested for approval for Change Order No. 2.

	Change Order No.1		Change C	rder No.2	
	NextGen	NextGen	NextGen	NextGen	Additional Cost
	Est. No	Contract	New	New Est.	
		Amount	Est. No.	No.	
Tahoe CSO	22106	\$15,241.66	22230	\$18,089.52	\$2,847.86
Tahoe CSO	22106	\$15,241.66	22230	\$18,089.52	\$2,847.86
Tahoe CSO	22106	\$15,241.66	22230	\$18,089.52	\$2,847.86
Tahoe CSO	22106	\$15,241.66	22228	\$17,770.60	\$2,528.94
F-150 CSO	22107	\$14,756.09	22222	\$17,745.54	\$2,989.45
F-150 CSO	22107	\$14,756.09	22220	\$15,781.87	\$1,025.78
Tahoe K-9	22104	\$25,014.20	22231	\$26,936.63	\$1,922.43
Tahoe K-9	22104	\$25,014.20	22231	\$26,936.63	\$1,922.43
Ford Utility K-9	22082	\$20,297.02	22221	\$22,187.02	\$1,890.00
Watch			22229	\$29,841.36	\$29,841.36
Commander					
Watch			22229	\$29,841.36	\$29,841.36
Commander					
CRO Vehicle			22223	\$16,233.21	\$16,233.21
Tahoe K-9			22231	\$26,936.63	\$26,936.63
		Total Cost	for Change	Order No. 2	\$123,675.17

CITY MANAGER'S REPORT SEPTEMBER 12, 2022 CITY COUNCIL REGULAR MEETING CHANGE ORDER NO. 2 WITH NEXTGEN ALPHA UPFITTING FOR THE PURCHASE AND INSTALLATION OF POLICE VEHICLE EQUIPMENT FOR **RETROFITTING OF EXISTING POLICE DEPARTMENT FLEET**

REASON FOR RECOMMENDATION:

Due to staff changes and two new officer positions added, staff has identified the need for four additional vehicles to be added to LPD's fleet that will need to be retrofitted to meet the approved specifications of the new Lathrop Police Department. It was also identified that additional equipment is needed for the nine other LPS vehicles already being retrofitted by NextGen that was not in the original contract.

The cost for the four new vehicles and the additional equipment for the vehicles is estimated at \$123,676. There are sufficient funds in CIP GG 21-11 to cover the cost of the contract. Staff recommends that City Council approve Change Order No. 2 with NextGen Alpha Upfitting for the purchase and installation of police vehicle equipment for retrofitting of existing police department fleet.

FISCAL IMPACT:

There is sufficient funds in CIP GG 21-11 to cover the cost of this contract. There is no fiscal impact to the City.

ATTACHMENTS:

- Resolution Approving Change Order No. 2 with NextGen Alpha Upfitting for the Α. Purchase and Installation of Police Vehicle Equipment for Retrofitting of **Existing Police Department Fleet**
- Change Order No. 2 with NextGen Alpha Upfitting for the Purchase and Β. Installation of Police Vehicle Equipment for Retrofitting of Existing Police **Department Fleet**

CITY MANAGER'S REPORT

SEPTEMBER 12, 2022 CITY COUNCIL REGULAR MEETING CHANGE ORDER NO. 2 WITH NEXTGEN ALPHA UPFITTING FOR THE PURCHASE AND INSTALLATION OF POLICE VEHICLE EQUIPMENT FOR RETROFITTING OF EXISTING POLICE DEPARTMENT FLEET

APPROVALS:

Raymond Bechler Chief of Police

Cari James Finance Director

Salvador Navarrete City Attorney

Stephen J. Salvatore

City Manager

Date

9-1-2022

Date

9.7.2022

Date

RESOLUTION NO. 22 -

A RESOLUTION OF THE CITY COUNCIL OF THE CITY OF LATHROP APPROVING CHANGE ORDER NO. 2 WITH NEXTGEN ALPHA UPFITTING FOR THE PURCHASE AND INSTALLATION OF POLICE VEHICLE EQUIPMENT FOR RETROFITTING OF EXISTING POLICE DEPARTMENT FLEET

WHEREAS, at the March 22, 2021, Special City Council Meeting, Council directed staff to create Capital Improvement Project (CIP) GG 21-11 to begin the creation of the new Lathrop Police Department, and implement the transition of law enforcement services from the San Joaquin County Sheriff to the City; and

WHEREAS, Council approved the purchase of new police vehicles and entered into a contract with NextGen Alpha Upfitting to upfit our new police vehicle fleet; and

WHEREAS, on May 16, 2022, Council approved Contract Change Order No.1 to retrofit nine Sheriff vehicles, two Motorcycles, and our two Animal Control vehicles; and

WHEREAS, on June 29, 2022, the Lathrop Police Department took over law enforcement services from the Sheriff's Office for the City of Lathrop; and

WHEREAS, the Sheriff's Office gradually began returning the Lathrop Police Services vehicles to the City; and

WHEREAS, as NextGen received each vehicle to retrofit, they identified additional equipment and components for the nine LPS vehicles that were not in the original approved contract; and

WHEREAS, the Lathrop Police Department has been in operation for over two months and there have been staff changes within the department and two new police officer positions added. Staff has reviewed and inventoried the returned vehicles, and has identified four additional vehicles that will remain in LPD's fleet. The vehicles are two Chevy Tahoes that will be retrofitted as Watch Commander vehicles, a third Chevy Tahoe that will be used for our third K-9 vehicle, and a Ford Fusion that will be used as our Community Resource Officer vehicle; and

WHEREAS, the cost for the four new vehicles and the additional equipment for the nine vehicles is estimated at \$123,676, and there is sufficient funds in CIP GG 21-11 to cover the cost of the contract.

NOW THEREFORE, BE IT RESOLVED, that the City Council of the City of Lathrop does hereby approve Change Order No. 2 with NextGen Alpha Upfitting for the purchase and installation of police vehicle equipment for retrofitting of existing police department fleet.

The foregoing resolution was passed and adopted this 12th day of September 2022, by the following vote of the City Council, to wit:

AYES:

NOES:

ABSENT:

ABSTAIN:

Sonny Dhaliwal, Mayor

ATTEST:

APPROVED AS TO FORM:

Salvador Navarrete, City Attorney

Teresa Vargas, City Clerk

Attachment B

City of Lathrop

CONTRACT CHANGE ORDER NO. 2 FOR THE PURCHASE AND INSTALLATION OF POLICE VEHICLE EQUIPMENT FOR RETRO-FITTING OF EXISTING POLICE DEPARTMENT FLEET

Contractor: NextGen Alpha Upfitting

Address: 8400 Carbide Ct, Suite A Sacramento, CA 95828

Change Order Date: September _____, 2022

Notice to Proceed Date: February 10, 2022

Contract Execution Date: February 10, 2022

This contract change order augments or changes the following:

1) ADDITIONS TO CONTRACT

Pursuant to the provisions of the Contract Specifications and proposal attached as Exhibit A, you are hereby directed to make the herein described additions, and scope of work contracted for within the terms of the agreement between the **City of Lathrop** and **NextGen Alpha Upfitting** dated **February 10, 2022**.

1. CHANGES IN THE SPECIFICATIONS

A. None

II. ADDITIONS TO CONTRACT

NO.	DESCRIPTION	QTY	UNIT	UNIT PRICE	TOTAL
1	Purchase and Installation of Police Vehicle	1	Lump	\$123, 676.00	\$123,676.00
	Equipment to retrofit 2 watch commander		Sum		
	vehicles, a third K-9 vehicle, CRO vehicle,				
	and add additional equipment to 9 police				
	vehicles				
TOTAL ADDITIONAL COST FROM THIS CHANGE ORDER NO. 2				\$123,676.00	
TOTA	TOTAL ADDITIONAL COST FROM CHANGE ORDER NO. 1				\$166,432.00
ORIGINAL CONTRACT AMOUNT				\$403,955.00	
REVI	REVISED CONTRACT AMOUNT AFTER CHANGE ORDER NO. 2 \$694,063.0			\$694,063.00	

(END OF CHANGES)

DESCRIPTION OF WORK

See additions to contract. The contractor shall provide all labor, material, equipment and shall perform all incidental tasks as necessary to complete the change order.

TIME OF COMPLETION

The effective date of Change Order No.1 is September _____, 2022 and it shall terminate no later than June 30, 2023.

Purchase and Installation of Police Vehicle Equipment for Retro-fitting of Existing Police Department Fleet

City of Lathrop

RELEASE AND WAIVER

Acceptance of this Contract Change Order constitutes a full and final resolution of all pending disputes between City and Contractor regarding scope of work and payment for work. Contractor accepts this Contract Change Order as full payment for all work performed to date and hereafter to be performed, up to and including Contract Change Order No. 2. Contractor releases and discharges City from any and all claims, demands, damages, actions and causes of actions and causes of action for injuries, damages or losses, whether known or unknown, foreseen or unforeseen, arising directly from Contractor's work on this contract. Contractor expressly waives the provisions of California Civil Code, Section 1542, which reads as follows:

A general release does not extend to claims which the Creditor does not know or suspect to exist in his favor at time of executing the release, which if known by him must have materially affected his settlement with the debtor.

(END OF SECTION)

Purchase and Installation of Police Vehicle Equipment for Retro-fitting of Existing Police Department Fleet

City of Lathrop

9-1-2022

Recommended By:

Raymond Bechler Chief of Police City of Lathrop

Date

Date

Date

Approved As To Form:

Salvador Navarrete City Attorney City of Lathrop

Approved By:

Stephen J. Salvatore City Manager City of Lathrop

Accepted By Contractor:

NextGen Alpha Upfitting

Date

Print Name and Title

8400 Carbide Ct Suite A Sacramento CA 95828

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Estimate

Date	Estimate #
8/5/2022	22223

Exhibit A

Item	Description	Qty	Rate	Total
	FUSION			
NG ORDER	LIGHTING EMPLB00K9Q-073 MPOWER LIGHTBAR RW BW 54IN	1	2,395.00	2,395.00T
SOS ENT2B3D	Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16 LEDs, Dual Color - Red/White	1	134.75	134.75T
SOS ENT2B3E	Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16 LEDs, Dual Color - Blue/White	1	192.75	192.75T
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - FRONT PUSH BUMPER LIGHTING	4	192.75	771.00T
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor -	2	134.75	269.50T
SOS ELUC3H010J	Red/Blue/White - REAR LIC LIGHTS Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue - REAR TAIL LIGHT	2	92.49	184.98T
SOS EMPS2SMS5RBW	STROBES mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor -	2	134.75	269.50T
NG ORDER	Red/Blue/White - QUARTER PANEL LIGHTING QUARTER PANEL LIGHT BRACKET	2	14.99	29.98T
SOS ENGSA582RSP SOS ETSS100J	SIREN 500 series remote siren with button control, 10-16v 100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	12	1,049.50 189.99	1,049.50T 379.98T
Phone #	(916) 423-5052	T		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

 Date
 Estimate #

 8/5/2022
 22223

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
	CONCOLE			
NG ORDER	CONSOLE TPS AC-FDPI-MNT FORD FUSION FLOOR	1	0.00	0.00T
NG OKDER	PLATE	1	0.00	0.001
NG ORDER	TPS CC-MC-14 14IN CENTER CONSOLE FORD	1	414.35	414.35T
NOORDER	FUSION	I	414.55	11.551
NG ORDER	TPS FP-SO500-R SOUNDOFF FACEPLATE	1	39,99	39.99T
NG ORDER	ICOM RADIO FACEPLATE F7520-11 - ONE	1	39.99	39.99T
NO ORDER	PIECE RADIO	•	57.75	57.071
TPS FP-USB-2DC	2" FACEPLATE DC OUTLET / USB CUTOUTS	1	58.50	58.50T
	ELECTRONICS INCLUDED	-		
TPS FP-BLNK1	1" BLANK FILLER PLATE	2	12.99	25.98T
TPS AC-INBHG	INTERNAL DUAL BEVERAGE HOLDER		49.95	49.95T
TPS AC-MCM1	MICROPHONE CLIP PLATE AND CLIP	2	12.99	25.98T
	ASSEMBLY			
NG ORDER	TPS CM-SDMT-SL-LED CONSOLE	1	435.00	435.00T
	SIDE-MOUNT WITH ROTATING &			
	EXTENDABLE SLIDE -ARM			
TPS AC-TB-ARMMNT-58	CONSOLE MOUNTED HEIGHT ADJUSTABLE	1	169.55	169.55T
	ARMREST WITH STANDARD SIZE ARM REST			
	FOAM PAD			
	DOCKING STATION			
NG ORDER	GETAC S410 - DOCKING STATION MOUNT	1	1,295.00	1,295.00T
	WITH POWER			
NG ORDER	GETAC S410 DOCKING STATION POWER	1	189.99	1 89.99 T
	SUPPLY			
	GUNLOCK			
TPS GM-SGRF-MNT	DUAL WEAPON MOUNT	1	255.00	255.00T
TPS GM-B-SC1AR-BKT	CLAMSHELL STYLE WEAPON LOCK	1	58.00	58.00T
	BRACKET FOR AR STYLE RIFLES			
TPS GM-B-OP-SC5-BKT	HANDCUFF STYLE WEAPON LOCK	1	69.00	69.00T
	BRACKET WITH MORE PITCH FOR AR			
	STYLE RIFLES WITH BOLT-ON			
	ACCESSORIES			
NG ORDER	SC 1 870 REMINGTON SHOTGUN LOCK	1	118.56	118.56T
NG ORDER	SC 6 UNIVERSAL GUN LOCK RATCHETING STYLE	1	169.99	169.99T
Phone #	(916) 423-5052	T = 4 = 1		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

 Date
 Estimate #

 8/5/2022
 22223

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

ltem	Description	Qty	Rate	Total
NG ORDER	REAR EQUIPMENT MOUNTING SLIDE TRAY/ MODIFICATION TPS AC-TRAY-CH50, AC-CH11-TT-50 PLUS MODIFICATION	1	550.00	550.00T
NG ORDER	ACCESSORIES NG PAR46N LED SPOTLIGHT REPLACEMENT	1	245.00	245.00T
NG ORDER TSO 78815	RADIO ANTENNA WHIP 17 FT RG58 The Laird MB8U vehicle roof mount antenna installation hardware kit is for Motorola-style mobile antennas, 0 – 1000 MHz. This NMO mount is an all brass permanent mount	1 2	66.85 19.99	66.85T 39.98T
NG ORDER NG ORDER	for a 3/4 in hole. JD 425-3816 MAGNETIC MIC NG7615 12V SOLENOID TIMER UNIT ADJUSTABLE	2 1	44.95 189.99	89.90T 189.99T
NG ORDER	100A WG AUTOMOTIVE 12V CIRCUIT	1	32.49	32.49T
BSS 5026	BREAKER ST Blade Fuse Block - 12 Circuits with Negative Bus and Cover	1	49.99	49.99T
NG SHIP IN NG INSTALATION	SHIPPING IN COST FROM VENDOR INSTALLATION OF CUSTOMER SUPPLIED MODEM, RADIO AND AXON	1	325.00 1,125.00	325.00 1,125.00T
NG SHOP SUPPLIES	SYSTEM(PRE-WIRE IF POSSIBLE) SHOP SUPPLIES - TO INCLUDE VEHICLE UPFIT - BRACKETS, FUSES, CLAMPS, WIRES,	1	289.99	289.99 T
NG INSTALATION	LOOM, MISC ACCESSORIES INSTALLATION LABOR CHARGE FOR ABOVE EQUIPMENT PER LATHROP POLICE DEPARTMENT SPEC	1	3,225.00	3,225.00
	Sales Tax		7.75%	912.25
Phone #	(916) 423-5052	Tatal		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		\$16,233.21

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

 Date
 Estimate #

 8/5/2022
 22220

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

ltem	Description	Qty	Rate	Total
	CSO FORD F150			
	ALL AMBER WHITE LIGHTING ONLY			
NG ORDER	LIGHTING EMPLB00SD9-2GE MPOWER LIGHTBAR AW	1	2,395.00	2,395.00T
NG ORDER SOS EMPS2SMS5RAW	54IN SOS MPOWER TRAFFIC ADVISOR AMBER mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title	1 4	659.76 134.75	659.76T 539.00T
NG ORDER	13, 9-32 Vdc, Black Housing, 18 LED, - Amber/White - FRONT PUSH BUMPER LIGHTS SOS ENT2B3F Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16 LEDs, Dual Color - AMBER/White	2	192.75	385.50T
NG ORDER	SOS ELUC3H010A Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – AMBER -	2	92.49	184.98T
SOS EMPS2SMS5RAW	REAR TAIL LIGHT STROBES mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, - Amber/White - ON TAIL GATE MOUNT -	2	134.75	269.50T
SOS EMPS2SMS5RAW	UPPER UNDER TOP RIDGE mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, - Amber/White - UNDER TAILGATE	2	134.75	269.50T
SOS ENGSA582RSP SOS ETSS100J	SIREN 500 series remote siren with button control, 10-16v 100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	1 2	1,049.50 189.99	1,049.50T 379.98T
	CONSOLE			
Phone #	(916) 423-5052	Tatal		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22220

Name / Address	
Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330	

Item	Description	Qty	Rate	Total
NG ORDER	TPS CC-21F1-0713-OS 2021+ Ford F150 20"	1	679.16	679.16T
	wide-body console; open storage along drivers			
	side; 7" slope, 13" level	1		
NG ORDER	TPS FP-SO500-R SOUNDOFF FACEPLATE	1	0.00	0.00T
NG ORDER	ICOM RADIO FACEPLATE F7520-11 - ONE	I	0.00	0.00T
	PIECE RADIO			
TPS FP-BLNK2	2" BLANK FILLER PLATE	3	0.00	0.00T
TPS FP-BLNK1	1" BLANK FILLER PLATE	3	0.00	0.00T
TPS FP-USB-2DC	2" FACEPLATE DC OUTLET / USB CUTOUTS	1	58.50	58.50T
	ELECTRONICS INCLUDED			
TPS AC-INBHG	INTERNAL DUAL BEVERAGE HOLDER	1	49.95	49.95T
TPS AC-MCM1	MICROPHONE CLIP PLATE AND CLIP	2	12.99	25.98T
	ASSEMBLY			
NG ORDER	TPS CM-SDMT-SL-LED CONSOLE	1	435.00	435.00T
	SIDE-MOUNT WITH ROTATING &			
	EXTENDABLE SLIDE -ARM			
TPS AC-SIDEARM-6	6" SIDE-MOUNT ARM REST	2	88.75	177.50T
	DOCKING STATION			
NG ORDER	GETAC S410 - DOCKING STATION MOUNT	1	1,295.00	1,295.00T
	WITH POWER			
NG ORDER	GETAC S410 DOCKING STATION POWER SUPPLY	1	189.99	189.99T
	REAR			
NG CUSTOM	NGF150ELECBX1 CUSTOM MADE	1	525.00	525.00T
	UNDERSEAT BOX COVER FOR	-		•=•••••
	ELECTRONICS AND EQUIPMENT			
	ACCESSORIES			
NG ORDER	RADIO ANTENNA WHIP	1	66.85	66.85T
TSO 78815	17 FT RG58 The Laird MB8U vehicle roof mount	1	19.99	19.99T
	antenna installation hardware kit is for	ŀ		
	Motorola-style mobile antennas, 0 – 1000 MHz.			
	This NMO mount is an all brass permanent mount			
	for a 3/4 in hole.			
NG ORDER	JD 425-3816 MAGNETIC MIC	2	44.95	89.90T
NG ORDER	NG7615 12V SOLENOID TIMER UNIT ADJUSTABLE	1	189.99	1 89 .99T
Phone #	(916) 423-5052	Tetel		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22220

Name / Address	
Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330	

Item	Description	Qty	Rate	Total
NG ORDER	100A WG AUTOMOTIVE 12V CIRCUIT	1	32.49	32.49T
BSS 5026	BREAKER ST Blade Fuse Block - 12 Circuits with Negative	1	49.99	49.99T
NG SHIP IN NG INSTALATION	Bus and Cover SHIPPING IN COST FROM VENDOR INSTALLATION OF CUSTOMER SUPPLIED MODEM, RADIO AND AXON	1 1	325.00 1,125.00	325.00 1,125.00
NG SHOP SUPPLIES	SYSTEM(PRE-WIRE IF POSSIBLE) SHOP SUPPLIES - TO INCLUDE VEHICLE UPFIT - BRACKETS, FUSES, CLAMPS, WIRES, LOOM, MISC ACCESSORIES	1	289.99	289.99T
NG INSTALATION	INSTALLATION LABOR CHARGE FOR ABOVE EQUIPMENT PER LATHROP POLICE DEPARTMENT SPEC	1	3,225.00	3,225.00
	Sales Tax		7.75%	798.87
Phone #	(016) 422 5052			
	(916) 423-5052	— Total		
Web Site	NEXTGENALPHAUPFITTING.NET			\$15,781.87

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22221

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
	FORD UTILITY K9 UNIT			
	LIGHTING			
NG ORDER	EMPLB00K9Q-073 MPOWER LIGHTBAR RW BW 54IN	1	2,395.00	2,395.00T
NG ORDER	SOS MPOWER TRAFFIC ADVISOR AMBER	1	609.75	609.75T
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	4	134.75	539.00T
	Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - FRONT PUSH BUMPER LIGHTS			
SOS ENT2B3D	Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16	1	192.75	192.75T
SOS ENT2B3E	LEDs, Dual Color - Red/White Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16	1	192.75	192.75T
SOS EMPS2SMS5RBW	LEDs, Dual Color - Blue/White mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title	2	134.75	269.50T
SOS EMPS2SMS5RBW	13, 9-32 Vdc, Black Housing, 18 LED, - Red/Blue -QUARTER PANEL LIGHTING		124.75	260 507
505 EMF525M55KB w	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	2	134.75	269.50T
	Vdc, Black Housing, 18 LED, Tricolor - Red/Blue - REAR LIC LIGHTS			
SOS ELUC3H010J	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue - REAR TAIL LIGHT	2	92.49	184.98T
MD HE-TL1	STROBES White Auxiliary Lighting Pod - 1.5x3 Inch, 3 LED	2	48.95	97.90T
MD HE-TL1R	- HATCH DOME LIGHT RED AUXILIARY LIGHTING POD - 1.5X3 INCH, 3 LED - HATCH DOME LIGHT	1	58.95	58.95T
Phone #	(916) 423-5052	Tatel	I	
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330 **Estimate**

Date	Estimate #
8/5/2022	22221

Item	Description	Qty	Rate	Total
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - REAR HATCH WARNING LIGHTS	2	134.75	269.50T
NG ORDER	PUSH BUMPER SETUP WPS 36-2055 PUSH BUMPER ELITE FORD	1	449.00	449.00T
NG ORDER	UTILITY 2018 WPS 36-2055PB PIT BAR FORD UTILITY 2018	1	459.00	459.00T
WPS 36-6005SMP2	LIGHT CHANNEL SOUND OFF MPOWER	1	42.49	42.49 T
	SIREN			
SOS ENGSA582RSP	500 series remote siren with button control, 10-16v	1	1,049.50	1,049.50T
SOS ETSS100J	100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	2	189.99	3 7 9.98T
N/C ODDED	CONSOLE			0.007
NG ORDER NG ORDER	TPS FLOOR PLATE FORD 2018 UTILITY TPS CC-UV-L18 FORD POLICE INTERCEPTOR UTILITY SPECIFIC 18" CONSOLE	1	0.00 465.00	0.00T 465.00T
NG ORDER	TPS FP-SO500-R SOUNDOFF FACEPLATE		0.00	0.00T
NG ORDER	ICOM RADIO FACEPLATE F7520-11 - ONE PIECE RADIO	1	0.00	0.00T 0.00T
TPS FP-USB-2DC	2" FACEPLATE DC OUTLET / USB CUTOUTS ELECTRONICS INCLUDED	1	58.50	58.50T
TPS FP-BLNK2	2" BLANK FILLER PLATE	2	0.00	0.00T
TPS FP-BLNK1	1" BLANK FILLER PLATE	2	0.00	0.00T
TPS AC-INBHG	INTERNAL DUAL BEVERAGE HOLDER	1	49.95	49.95T
TPS AC-MCM1	MICROPHONE CLIP PLATE AND CLIP ASSEMBLY	2	12.99	25.98T
TPS AC-TB-ARMMNT-58	CONSOLE MOUNTED HEIGHT ADJUSTABLE ARMREST WITH STANDARD SIZE ARM REST FOAM PAD	1	169.55	169.55T
Phone #	(916) 423-5052	T - 4 - 1		
Web Site	NEXTGENALPHAUPFITTING.NET	Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22221

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
NG ORDER	TPS CM-SDMT-SL-LED CONSOLE SIDE-MOUNT COMPUTER MOUNT WITH ROTATING & EXTENDABLE SLIDE-ARM	1	435.00	435.00T
NG ORDER	DOCKING STATION GETAC S410 - DOCKING STATION MOUNT WITH POWER	1	1,295.00	1,295.00T
NG ORDER	GETAC S410 DOCKING STATION POWER SUPPLY	1	189.99	189.99T
NG ORDER	GUNLOCK TPS GM-SGL-MNT SINGLE WEAPON MOUNT	2	192.45	384.90T
TPS GM-B-SC1AR-BKT	CLAMSHELL STYLE WEAPON LOCK BRACKET FOR AR STYLE RIFLES	1	58.00	58.00T
TPS GM-B-OP-SC5-BK T	HANDCUFF STYLE WEAPON LOCK BRACKET WITH MORE PITCH FOR AR STYLE RIFLES WITH BOLT-ON ACCESSORIES	1	69.00	69.00T
NG ORDER NG ORDER	SC 1 870 REMINGTON SHOTGUN LOCK SC 6 UNIVERSAL GUN LOCK RATCHETING STYLE	1	118.56 169.99	118.56T 169.99T
	K9 SETUP K9 KENNEL SUPPLIED FROM OLD VEHICLE BUILD			
NG ORDER NG ORDER	AK9 HA0FK10-P 10" FAN ACCESSORY AK9 NGHP-5020 K9 HOT N POP PRO TEMP ALARM WITH DOOR POP AND WINDOW DROP	1	129.99 1,689.55	129.99T 1,689.55T
NG CUSTOM	CUSTOM MADE BRACKETS FOR REAR BOX MOUNT MODIFICATION IN ORDER TO WORK WITH K9 UNIT	1	250.00	250.00T
NG ORDER	PG SS0002 SAFESTOP SECURE IDLE SYSTEM	1	195.00	195.00T
NG INSTALATION	INSTALLATION OF K9 HEAT ALARM SYSTEM WITH SAFESTOP UNIT, REMOVE/CLEAN UP AND RE-INSTALL K9 KENNEL	1	1,650.00	1,650.00
Phone #	(916) 423-5052	T		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828 **Estimate**

Date	Estimate #
8/5/2022	22221

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
NG ORDER NG ORDER TSO 78815	ACCESSORIES NG PAR46N LED SPOTLIGHT REPLACEMENT RADIO ANTENNA WHIP 17 FT RG58 The Laird MB8U vehicle roof mount antenna installation hardware kit is for Motorola-style mobile antennas, 0 – 1000 MHz. This NMO mount is an all brass permanent mount	2 1 1	245.00 66.85 19.99	490.00T 66.85T 19.99T
NG ORDER	for a 3/4 in hole. JD 425-3816 MAGNETIC MIC	2	44.95	89.90T
NG ORDER	NG7615 12V SOLENOID TIMER UNIT ADJUSTABLE	1	189.99	189.99T
NG ORDER	100A WG AUTOMOTIVE 12V CIRCUIT BREAKER	1	32.49	32.49T
BSS 5026	ST Blade Fuse Block - 12 Circuits with Negative Bus and Cover	1	49.99	49.99T
NG SHIP IN	SHIPPING IN COST FROM VENDOR	1	325.00	325.00
NG INSTALATION	INSTALLATION OF CUSTOMER SUPPLIED MODEM, RADIO AND AXON	1	1,125.00	1,125.00
NG SHOP SUPPLIES	SYSTEM(PRE-WIRE IF POSSIBLE) SHOP SUPPLIES - TO INCLUDE VEHICLE UPFIT - BRACKETS, FUSES, CLAMPS, WIRES,	1	289.99	289.99T
NG INSTALATION	LOOM, MISC ACCESSORIES INSTALLATION LABOR CHARGE FOR ABOVE EQUIPMENT PER LATHROP POLICE DEPARTMENT SPEC - RE-WIRE TO LATHROP	ł	3,525.00	3,525.00
	SPEC Sales Tax		7.75%	1,119.31
Phone #	(916) 423-5052			
Web Site	NEXTGENALPHAUPFITTING.NET	— Total		\$22,187.02

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22222

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
	2020 FORD F150 SCHOOL RESOURCE OFFICER - SRO			
NG ORDER	LIGHTING EMPLB00K9Q-073 MPOWER LIGHTBAR RW	1	2,395.00	2.395.00 T
	BW 54IN	-	_,	_,
NG ORDER	SOS NFORCE TRAFFIC ADVISOR AMBER	1	659.76	659.76T
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor -	4	134.75	539.00T
SOS ENT2B3E	Red/Blue/White - PUSH BUMPER LIGHTING Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16 LEDs, Dual Color - Blue/White	1	192.75	192.75T
SOS ENT2B3D	Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16 LEDs, Dual Color - Red/White	1	192.75	192.75T
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - ON TAIL GATE MOUNT -	2	134.75	269.50T
SOS ELUC3H010J	UPPER UNDER TOP RIDGE Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue - REAR TAIL LIGHT STROBES	2	92.49	184.98T
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - UNDER TAILGATE	2	134.75	269.50T
NCORDER	PUSH BUMPER SETUP	.	(00 (4	(00 (AT
NG ORDER Phone #	WPS 36-52065 PUSH BUMPER ELITEXD (916) 423-5052		699.64	<u>699.64</u> T
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828 **Estimate**

Date	Estimate #
8/5/2022	22222

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
NG ORDER WPS 36-6015SMP2	WPS 36-52065PB PITBAR ELITEXD Bumper Push Bar Top Channel Cover; Elite; For Westin Elite Series Bumper Push Bar; With 2 Soundoff MR6 Code Light Mounting Holes; Powder Coated; Black; Steel	1	545.00 49.99	545.00T 49.99T
SOS ENGSA582RSP	SIREN 500 series remote siren with button control, 10-16v	1	1,049.50	1,049.50T
SOS ETSS100J	100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	2	189.99	379.98T
	CONSOLE			
NG ORDER	PS CC-21F1-0713-OS 2021+ Ford F150 20" wide-body console; open storage along drivers side; 7" slope, 13" level	1	679.16	679.16T
TPS FP-SO380R	TPS FP-SO500-R SOUNDOFF FACEPLATE	1	0.00	0.00T
NG ORDER	ICOM RADIO FACEPLATE F7520-11 - ONE PIECE RADIO	1	0.00	0.00T
TPS FP-BLNK1	1" BLANK FILLER PLATE	3	0.00	0.00T
TPS FP-BLNK2	2" BLANK FILLER PLATE	3	0.00	0.00T
TPS FP-USB-2DC	2" FACEPLATE DC OUTLET / USB CUTOUTS ELECTRONICS INCLUDED	1	58.50	58.50T
TPS AC-INBHG	INTERNAL DUAL BEVERAGE HOLDER	1	49.95	49.95T
TPS AC-MCM1	MICROPHONE CLIP PLATE AND CLIP ASSEMBLY	2	12.99	25.98T
NG ORDER	TPS CM-SDMT-SL-LED CONSOLE SIDE-MOUNT WITH ROTATING & EXTENDABLE SLIDE -ARM	1	435.00	435.00T
TPS AC-SIDEARM-6	6" SIDE-MOUNT ARM REST	2	88.75	177.50T
NG ORDER	DOCKING STATION GETAC \$410 - DOCKING STATION MOUNT		1 205 00	1 205 005
NGORDER	WITH POWER	1	1,295.00	1,295.00T
NG ORDER	GETAC S410 DOCKING STATION POWER SUPPLY	1	189.99	1 89 .99T
	KEEP PARTITION SETUP WITH REAR CARGO SEPERATORS- CLEAN AND TIGHTEN EQUIPMENT TRAY			
Phone #	(916) 423-5052	Tatal	· <u>····</u>	
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

 Date
 Estimate #

 8/5/2022
 22222

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

ltem	Description	Qty	Rate	Total
NG ORDER	CUSTOM ELECTRONICS BOX/COVER - DEPENDENT ON SETINA REAR SETUP ORIGINALLY	1	450.00	450.00T
	ACCESSORIES			
NG ORDER	NG PAR46N LED SPOTLIGHT REPLACEMENT	2	245.00	490.00T
NG ORDER	RADIO ANTENNA WHIP	1	66.85	66.85T
TSO 78815	17 FT RG58 The Laird MB8U vehicle roof mount antenna installation hardware kit is for Motorola-style mobile antennas, 0 – 1000 MHz. This NMO mount is an all brass permanent mount for a 3/4 in hole.	2	19.99	39.98T
NG ORDER	JD 425-3816 MAGNETIC MIC	2	44.95	89.90T
NG ORDER	NG7615 12V SOLENOID TIMER UNIT ADJUSTABLE	1	189.99	189.99T
NG ORDER	100A WG AUTOMOTIVE 12V CIRCUIT BREAKER	1	32.49	32.49T
BSS 5026	ST Blade Fuse Block - 12 Circuits with Negative Bus and Cover	1	49.99	49.99 T
NG SHIP IN	SHIPPING IN COST FROM VENDOR	1	325.00	325.00
NG INSTALATION	INSTALLATION OF CUSTOMER SUPPLIED MODEM, RADIO AND AXON SYSTEM(PRE-WIRE IF POSSIBLE) SHOP SUPPLIES - TO INCLUDE VEHICLE	1	1,125.00 289.99	1,125.00 289.99T
	UPFIT - BRACKETS, FUSES, CLAMPS, WIRES, LOOM, MISC ACCESSORIES		207.77	207.771
NG INSTALATION	INSTALLATION LABOR CHARGE FOR ABOVE EQUIPMENT PER LATHROP POLICE DEPARTMENT SPEC	1	3,325.00	3,325.00
	Sales Tax		7.75%	932.92
Phone #	(916) 423-5052	- Total		
Web Site	NEXTGENALPHAUPFITTING.NET			\$17,745.54

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22230

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
	CSO 2019/2020 CHEVY TAHOE x3			
	ALL AMBER / WHITE LIGHTING ONLY			
	LIGHTING			
NG ORDER	EMPLB00SD9-2GE MPOWER LIGHTBAR AW 54IN	3	2,395.00	7,185.00T
NG ORDER	SOS MPOWER TRAFFIC ADVISOR AMBER	3	659.76	1,979.28T
SOS EMPS2SMS5RAW	mpower® 4" Fascia Light w/ Screw Mount, 18"	12	134.75	1,617.00T
	hard wire w/ sync option, SAE Class 1 & CA Title			
	13, 9-32 Vdc, Black Housing, 18 LED, -			
	Amber/White - FRONT PUSH BUMPER LIGHTS			
NG ORDER	SOS ENT2B3F Intersector Under Mirror Mount	6	192.75	1,156.50T
	Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket &			
	Hardware, 16 LEDs, Dual Color - AMBER/White			
SOS EMPS2SMS5RAW	mpower® 4" Fascia Light w/ Screw Mount, 18"	6	134.75	808.50T
	hard wire w/ sync option, SAE Class 1 & CA Title			
	13, 9-32 Vdc, Black Housing, 18 LED, -			
	Amber/White - QUARTER PANEL LIGHTING			
SOS EMPS2SMS5RAW	mpower® 4" Fascia Light w/ Screw Mount, 18"	6	134.75	808.50T
	hard wire w/ sync option, SAE Class 1 & CA Title			
	13, 9-32 Vdc, Black Housing, 18 LED, -			
NG ORDER	Amber/White - REAR LIC LIGHTS SOS ELUC3H010A Universal UnderCover	6	92.49	554.94T
NGURDER	Sors ELOCSHOTOA Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/	0	92.49	554.941
	10' 5-wire harness: includes insert, Lens #1			
	(Extreme Angle) & Inline Flasher – AMBER -			
	REAR TAIL LIGHT STROBES			
MD HE-TL1	White Auxiliary Lighting Pod - 1.5x3 Inch, 3 LED	6	48.95	293.70T
	- HATCH DOME LIGHT	_		
MD HE-TL1R	RED AUXILIARY LIGHTING POD - 1.5X3	3	58.95	176.85T
	INCH, 3 LED - HATCH DOME LIGHT			
SOS EMPS2SMS5RAW	mpower® 4" Fascia Light w/ Screw Mount, 18"	6	134.75	808.50T
	hard wire w/ sync option, SAE Class 1 & CA Title			
	13, 9-32 Vdc, Black Housing, 18 LED, -			
	Amber/White - REAR HATCH WARNING			
	SIREN			
SOS ENGSA582RSP	500 series remote siren with button control, 10-16v	3	1,049.50	3,148.50T
Phone #	(916) 423-5052	-		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

 Date
 Estimate #

 8/5/2022
 22230

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
SOS ETSS100J	100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	6	189.99	1,139.94T
THE CO WIDOG M	CONSOLE	3	609.50	1,828.50T
TPS CC-WBOS-20	UNIVERSAL 20" WIDE-BODY CONSOLE WITH OPEN STORAGE	c	009.30	1,020.301
NG ORDER	AC-TH15-WB WIDE BODY CONSOLE BASE	3	0.00	0.00T
NG ORDER	TPS FP-SO500-R SOUNDOFF FACEPLATE	3	0.00	0.00T
NG ORDER	ICOM RADIO FACEPLATE F7520-11 - ONE PIECE RADIO	3	0.00	0.00T
NG ORDER	FP-DECORA 2" face plate w/ (1) AC duplex outlet cut-out. Includes duplex outlet	3	39.99	119.97T
TPS FP-BLNK2	2" BLANK FILLER PLATE	9	0.00	0.00T
TPS FP-BLNK1	1" BLANK FILLER PLATE	6	0.00	0.00T
TPS FP-USB-2DC	2" FACEPLATE DC OUTLET / USB CUTOUTS ELECTRONICS INCLUDED	3	58.50	175.50T
TPS AC-INBHG	INTERNAL DUAL BEVERAGE HOLDER	3	49.95	149.85T
TPS AC-MCM1	MICROPHONE CLIP PLATE AND CLIP ASSEMBLY	6	12.99	77.94T
NG ORDER	TPS CM-SDMT-SL-LED CONSOLE SIDE-MOUNT WITH ROTATING & EXTENDABLE SLIDE -ARM	3	435.00	1,305.00T
TPS AC-SIDEARM-6	6" SIDE-MOUNT ARM REST	6	88.75	532.50T
NG ORDER	CENTER CONSOLE USB EXTENSION (OEM)	3	19.99	59.97T
	DOCKING STATION			
NG ORDER	GETAC S410 - DOCKING STATION MOUNT WITH POWER	3	1,295.00	3,885.00T
NG ORDER	GETAC S410 DOCKING STATION POWER SUPPLY	3	189.99	569.97T
NG CUSTOM	REAR CUSTOM MADE PLATFORM/STORAGE -	3	2,250.00	6,750.00T
	BLACK RHINO TEXTURED - WITH 2 FRONT COMPARTMENTS, 1 FOR ELECTRONICES			
	AND 1 FOR STORAGE, 3INCH LIP WITH "D" RINGS AROUND THE PLATFORM			
	ACCESSORIES			
Phone #	(916) 423-5052	- Total		
Web Site	NEXTGENALPHAUPFITTING.NET			

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22230

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

ltem	Description	Qty	Rate	Total
NG ORDER TSO 78815	RADIO ANTENNA WHIP 17 FT RG58 The Laird MB8U vehicle roof mount antenna installation hardware kit is for Motorola-style mobile antennas, 0 – 1000 MHz. This NMO mount is an all brass permanent mount for a 3/4 in hole.	3 3	66.85 19.99	200.55T 59.97T
NG ORDER	JD 425-3816 MAGNETIC MIC	6	44.95	269.70T
NG ORDER	NG7615 12V SOLENOID TIMER UNIT ADJUSTABLE	3	189.99	569.97T
NG ORDER	100A WG AUTOMOTIVE 12V CIRCUIT BREAKER	3	32.49	97.47T
BSS 5026	ST Blade Fuse Block - 12 Circuits with Negative Bus and Cover	3	49.99	149.97T
NG SHIP IN	SHIPPING IN COST FROM VENDOR	3	325.00	975.00
NG INSTALATION	INSTALLATION OF CUSTOMER SUPPLIED MODEM, RADIO AND AXON SYSTEM(PRE-WIRE IF POSSIBLE)	3	1,125.00	3,375.00
NG SHOP SUPPLIES	SHOP SUPPLIES - TO INCLUDE VEHICLE UPFIT - BRACKETS, FUSES, CLAMPS, WIRES, LOOM, MISC ACCESSORIES	3	289.99	869.97T
NG INSTALATION	INSTALLATION LABOR CHARGE FOR ABOVE EQUIPMENT PER LATHROP POLICE DEPARTMENT SPEC	3	3,225.00	9,675.00
	Sales Tax		7.75%	2,894.55
Phone #	(916) 423-5052	T		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		\$54,268.56

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

 Date
 Estimate #

 8/5/2022
 22231

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
	2020 CHEVY TAHOE K9 UNIT x3			
	LIGHTING			
NG ORDER	EMPLB00K9Q-073 MPOWER LIGHTBAR RW	3	2,395.00	7,185.00T
NG ORDER	BW 54IN			1 050 007
NG ORDER SOS EMPS2SMS5RBW	SOS MPOWER TRAFFIC ADVISOR AMBER mpower® 4" Fascia Light w/ Screw Mount, 18"	3 12	659.76 134.75	1,979.28T 1,617.00T
303 EMF 323M35KB W	hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	12	154.75	1,017.001
	Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - FRONT PUSH BUMPER LIGHTS			
SOS ENT2B3D	Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16 LEDs, Dual	3	192.75	578.25T
SOS ENT2B3E	Color - Red/White Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16	3	192.75	578.25T
	LEDs, Dual Color - Blue/White			
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	6	134.75	808.50T
	Vdc, Black Housing, 18 LED, - Red/Blue - QUARTER PANEL LIGHTING			
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	6	134.75	808.50T
	Vdc, Black Housing, 18 LED, - Red/Blue - REAR LIC LIGHTS			
SOS ELUC3H010J	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue - REAR TAIL LIGHT	6	92.49	554.94T
	STROBES			
MD HE-TL1	White Auxiliary Lighting Pod - 1.5x3 Inch, 3 LED - HATCH DOME LIGHT	6	48.95	293.70T
MD HE-TL1R	RED AUXILIARY LIGHTING POD - 1.5X3 INCH, 3 LED - HATCH DOME LIGHT	3	58.95	176.85T
Phone #	(916) 423-5052	Tatal		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330 Estimate

Date	Estimate #
8/5/2022	22231

Item	Description	Qty	Rate	Total
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - REAR HATCH WARNING LIGHTS	6	134.75	808.50T
WPS 36-53805	PUSH BUMPER SETUP Bumper Push Bar; Elite ™ XD; Powder Coated; Black; Steel; 3 Inch Diameter; Without Wraparound Brush Guard; For Use With Optional Top Channel (Sold Separately); With Mounting Brackets	3	696.00	2,088 .00T
WPS 36-53805PB	Blackets Bumper Guard; Elite ™ XD; Powder Coated; Black; Steel; Requires Westin Public Safety Bumper Push Bar	3	525.00	1,575.00T
WPS 36-6015SMP2	Bumper Push Bar Top Channel Cover; Elite; For Westin Elite Series Bumper Push Bar; With 2 Soundoff MR6 Code Light Mounting Holes; Powder Coated; Black; Steel	3	49.99	149.97T
SOS ENGSA582RSP SOS ETSS100J	SIREN 500 series remote siren with button control, 10-16v 100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	3 6	1,049.50 189.99	3, 148.5 0T 1,139.94T
TPS CC-WBOS-20	CONSOLE UNIVERSAL 20" WIDE-BODY CONSOLE WITH OPEN STORAGE	3	609.50	1,828.50T
TPS AC-TH15-WB NG ORDER NG ORDER	2015-20 Tahoe wide-body floor mount TPS FP-SO500-R SOUNDOFF FACEPLATE ICOM RADIO FACEPLATE F7520-11 - ONE	3 3 3	0.00 0.00 0.00	0.00T 0.00T 0.00T
NG ORDER	PIECE RADIO FP-DECORA 2" face plate w/ (1) AC duplex outlet cut-out. Includes duplex outlet.	3	39.99	119.97T
TPS FP-BLNK2	2" BLANK FILLER PLATE	9	0.00	0.00T
TPS FP-BLNK1	1" BLANK FILLER PLATE	6	0.00	0.00T
TPS FP-USB-2DC	2" FACEPLATE DC OUTLET / USB CUTOUTS ELECTRONICS INCLUDED	3	58.50	175.50T
Phone #	(916) 423-5052	Tatal		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22231

Name / Address	
Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330	

ltem	Description	Qty	Rate	Total
TPS AC-INBHG	INTERNAL DUAL BEVERAGE HOLDER	3	49.95	149.85T
TPS AC-MCM1	MICROPHONE CLIP PLATE AND CLIP ASSEMBLY	6	12.99	77.94 T
NG ORDER	TPS CM-SDMT-SL-LED CONSOLE	3	435.00	1,305.00T
	SIDE-MOUNT WITH ROTATING &			1,0 001001
	EXTENDABLE SLIDE -ARM			
TPS AC-SIDEARM-6	6" SIDE-MOUNT ARM REST	6	88.75	532.50T
NG ORDER	CENTER CONSOLE USB EXTENSION (OEM)	3	19.99	59.97T
	DOCKING STATION			
NG ORDER	GETAC S410 - DOCKING STATION MOUNT	3	1,295.00	3,885.00T
NG ORDER	WITH POWER		100.00	5/0 0 5 7
NOORDER	GETAC S410 DOCKING STATION POWER SUPPLY	3	189.99	569.97T
	GUNLOCK			
TPS GM-SGL-MNT	SINGLE WEAPON MOUNT	6	192.45	1,154.70T
TPS GM-B-SC1AR-BKT	CLAMSHELL STYLE WEAPON LOCK	3	58.00	174.00T
TPS GM-B-OP-SC5-BKT	BRACKET FOR AR STYLE RIFLES HANDCUFF STYLE WEAPON LOCK	3	69.00	207.00T
115 GM-D-OI -3C5-BK1	BRACKET WITH MORE PITCH FOR AR	3	09.00	207.001
	STYLE RIFLES WITH BOLT-ON			
	ACCESSORIES			
NG ORDER TPS SC6-2	SC 1 870 REMINGTON SHOTGUN LOCK SC-6 UNIVERSAL RATCHETING GUNLOCK	3	118.56	355.68T
115 300-2	WITH #2 KEY	3	169.99	509.97T
	K9 SETUP			
NG ORDER	AA EZPF-TAH-15-CURRENT-AA E/Z RIDER	3	3,245.00	9,735.00T
	K9 INSERT WITH LED KIT, POWDER			
NG ORDER	COATED AND WATER DISH INCLUDED AK9 HA0FK10-P 10" FAN ACCESSORY	3	129.99	389.97T
NG ORDER	AK9 NGHP-5020 K9 HOT N POP PRO TEMP	3	1,689.55	5,068.65T
	ALARM WITH DOOR POP AND WINDOW	-	.,	2,0001021
	DROP			
NG SHIP IN NG CUSTOM	SHIPPING IN COST FROM VENDOR	3	725.00	2,175.00
NUCUSION	CUSTOM MADE BRACKETS FOR REAR BOX MOUNT MODIFICATION IN ORDER TO	3	250.00	750.00T
	WORK WITH K9 UNIT			
Phone #	(916) 423-5052	-		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330 **Estimate**

Date	Estimate #
8/5/2022	22231

Item	Description	Qty	Rate	Total
PG SS0008	2017-2020 Chevy Tahoe, Silverado(1500, 2500, & 3500) Chevy Suburban (1500 and 2500)	3	195.00	585.00T
NG INSTALATION	INSTALLLATION OF K9 KENNEL AND HEAT ALARM SYSTEM WITH SAFESTOP UNIT	3	1,550.00	4,650.00
	ACCESSORIES			
NG ORDER	NG PAR46N LED SPOTLIGHT REPLACEMENT	6	245.00	1,470.00T
NG ORDER	RADIO ANTENNA WHIP	3	66.85	200.55T
TSO 78815	17 FT RG58 The Laird MB8U vehicle roof mount antenna installation hardware kit is for Motorola-style mobile antennas, 0 – 1000 MHz. This NMO mount is an all brass permanent mount for a 3/4 in hole.	3	19.99	59.97T
NG ORDER	JD 425-3816 MAGNETIC MIC	6	44.95	269.70T
NG ORDER	NG7615 12V SOLENOID TIMER UNIT ADJUSTABLE	3	189.99	569.97T
NG ORDER	100A WG AUTOMOTIVE 12V CIRCUIT BREAKER	3	32.49	97.47T
BSS 5026	ST Blade Fuse Block - 12 Circuits with Negative Bus and Cover	3	49.99	149.97T
NG SHIP IN	SHIPPING IN COST FROM VENDOR	3	325.00	975.00
NG INSTALATION	INSTALLATION OF CUSTOMER SUPPLIED MODEM, RADIO AND AXON SYSTEM(PRE-WIRE IF POSSIBLE)	3	1,125.00	3,375.00
NG SHOP SUPPLIES	SHOP SUPPLIES - TO INCLUDE VEHICLE UPFIT - BRACKETS, FUSES, CLAMPS, WIRES,	3	289.99	869.97T
NG INSTALATION	LOOM, MISC ACCESSORIES INSTALLATION LABOR CHARGE FOR ABOVE EQUIPMENT PER LATHROP POLICE	3	3,525.00	10,575.00
	DEPARTMENT SPEC Sales Tax		7.75%	4,247.93
Phone #	(916) 423-5052			
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		\$80,809.88

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22228

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

ltem	Description	Qty	Rate	Total
	2018 CHEVY TAHOE - SPARE PATROL			
NG ORDER	LIGHTING EMPLB00K9Q-073 MPOWER LIGHTBAR RW BW 54IN	1	2,395.00	2,395.00T
NG ORDER	SOS MPOWER TRAFFIC ADVISOR AMBER	1	659.76	659.76T
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - FRONT PUSH BUMPER LIGHTING	4	134.75	539.00T
SOS ENT2B3D	Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16 LEDs, Dual Color - Red/White	1	192.75	192.75T
SOS ENT2B3E	Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16 LEDs, Dual Color - Blue/White	1	192.75	192.75T
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	2	134.75	269.50T
SOS EMPS2SMS5RBW	Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - QUARTER PANEL LIGHTING mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	2	134.75	269.50T
SOS ELUC3H010J	Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - REAR LIC LIGHTS Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue - REAR TAIL LIGHT	2	92.49	184.98T
MD HE-TL1	STROBES White Auxiliary Lighting Pod - 1.5x3 Inch, 3 LED - HATCH DOME LIGHT	2	48.95	97.90T
MD HE-TL1R	RED AUXILIARY LIGHTING POD - 1.5X3 INCH, 3 LED - HATCH DOME LIGHT	1	58.95	58.95T
Phone #	(916) 423-5052		1	
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Estimate good for 30 days.

ltem	Description	Qty	Rate	Total
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - REAR HATCH WARNING LIGHTS	2	134.75	269.50T
WPS 36-53805	PUSH BUMPER SETUP Bumper Push Bar; Elite TM XD; Powder Coated; Black; Steel; 3 Inch Diameter; Without Wraparound Brush Guard; For Use With Optional Top Channel (Sold Separately); With Mounting	1	696.00	696.00T
WPS 36-53805PB	Brackets Bumper Guard; Elite ™ XD; Powder Coated; Black; Steel; Requires Westin Public Safety Bumper Push Bar	1	525.00	525.00T
WPS 36-6015SMP2	Bumper Push Bar Top Channel Cover; Elite; For Westin Elite Series Bumper Push Bar; With 2 Soundoff MR6 Code Light Mounting Holes; Powder Coated; Black; Steel	1	49.99	49.99 T
SOS ENGSA582RSP SOS ETSS100J	SIREN 500 series remote siren with button control, 10-16v 100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	1 2	1,049.50 189.99	1,049.50T 379.98T
NG ORDER NG ORDER NG ORDER	CONSOLE TPS FP-SO500-R SOUNDOFF FACEPLATE ICOM RADIO FACEPLATE TP-DECORA 2" face plate w/ (1) AC duplex	1 1 1	39.99 39.99 39.99	39.99T 39.99T 39.99T
TPS FP-BLNK1 TPS FP-BLNK2 TPS FP-USB-2DC	outlet cut-out. Includes duplex outlet 1" BLANK FILLER PLATE 2" BLANK FILLER PLATE 2" FACEPLATE DC OUTLET / USB CUTOUTS	2 3 1	12.99 12.99 58.50	25.98T 38.97T 58.50T
TPS AC-INBHG TPS AC-MCM1	ELECTRONICS INCLUDED INTERNAL DUAL BEVERAGE HOLDER MICROPHONE CLIP PLATE AND CLIP ASSEMBLY	1 2	49.95 12.99	49.95T 25.98T
Phone #	(916) 423-5052			10 - 10 - 10 - 10 - 10 - 10 - 10 - 10 -
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

Date Estimate # 8/5/2022 22228

Estimate

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22228

Name / Address Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
NG ORDER	TPS CM-SDMT-SL-LED CONSOLE SIDE-MOUNT WITH ROTATING & EXTENDABLE SLIDE -ARM	1	435.00	435.00T
TPS AC-SIDEARM-6	6" SIDE-MOUNT ARM REST	2	88.75	177.50T
NG ORDER	CENTER CONSOLE USB EXTENSION (OEM)	1	19.99	19.99T
	DOCKING STATION			1 005 007
NG ORDER	GETAC S410 - DOCKING STATION MOUNT WITH POWER	1	1,295.00	1,295.00T
NG ORDER	GETAC S410 DOCKING STATION POWER SUPPLY	1	189.99	189.99T
	ACCESSORIES			
NG ORDER	NG PAR46N LED SPOTLIGHT REPLACEMENT	2	245.00	490.00T
NG ORDER	RADIO ANTENNA WHIP	1	66.85 19.99	66.85T 39.98T
TSO 78815	17 FT RG58 The Laird MB8U vehicle roof mount antenna installation hardware kit is for Motorola-style mobile antennas, 0 – 1000 MHz. This NMO mount is an all brass permanent mount for a 3/4 in hole.	2	17.77	37.701
NG ORDER	JD 425-3816 MAGNETIC MIC	2	44.95	89.90T
NG ORDER	NG7615 12V SOLENOID TIMER UNIT ADJUSTABLE	1	189.99	189.99T
NG ORDER	100A WG AUTOMOTIVE 12V CIRCUIT BREAKER	1	32.49	32.49T
BSS 5026	ST Blade Fuse Block - 12 Circuits with Negative Bus and Cover	1	49.99	49.99T
NG SHIP IN	SHIPPING IN COST FROM VENDOR	1	325.00	325.00
NG INSTALATION	INSTALLATION OF CUSTOMER SUPPLIED MODEM, RADIO AND AXON SYSTEM(PRE-WIRE IF POSSIBLE)	1	1,125.00	1,125.00T
NG SHOP SUPPLIES	SHOP SUPPLIES - TO INCLUDE VEHICLE UPFIT - BRACKETS, FUSES, CLAMPS, WIRES,	1	289.99	289.99T
NG INSTALATION	LOOM, MISC ACCESSORIES INSTALLATION LABOR CHARGE FOR ABOVE EQUIPMENT PER LATHROP POLICE	1	3,825.00	3,825.00
	DEPARTMENT SPEC Sales Tax		7.75%	979.68
Phone #	(916) 423-5052	T = 4 = 1	. <u></u>	
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		\$17,770.76

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22229

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
	2020 CHEVY TAHOE - WATCH COMMANDER x2			
NG ORDER	LIGHTING EMPLB00K9Q-073 MPOWER LIGHTBAR RW	2	2,395.00	4,790.00T
	BW 54IN			
NG ORDER	SOS MPOWER TRAFFIC ADVISOR AMBER	2	659.76	1,319.52T
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - FRONT PUSH BUMPER LIGHTING	8	134.75	1,078.00T
SOS ENT2B3D	Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16 LEDs, Dual Color - Red/White	2	192.75	385.50T
SOS ENT2B3E	Intersector Under Mirror Mount Light, 9-32 Vdc, w/ 4-Wedges, Mounting Gasket & Hardware, 16 LEDs, Dual Color - Blue/White	2	192.75	3 85.5 0T
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	4	134.75	539.00T
SOS EMPS2SMS5RBW	Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - QUARTER PANEL LIGHTING mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32	4	134.75	539.00T
SOS ELUC3H010J	Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - REAR LIC LIGHTS Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher – Dual Color Red/Blue - REAR TAIL LIGHT	4	92.49	369.96T
MD HE-TL1	STROBES White Auxiliary Lighting Pod - 1.5x3 Inch, 3 LED - HATCH DOME LIGHT	4	48.95	195.80T
MD HE-TL1R	RED AUXILIARY LIGHTING POD - 1.5X3 INCH, 3 LED - HATCH DOME LIGHT	2	58.95	117.90T
Phone #	(916) 423-5052	T = 4 - 1		
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #
8/5/2022	22229

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

ltem	Description	Qty	Rate	Total
SOS EMPS2SMS5RBW	mpower® 4" Fascia Light w/ Screw Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 18 LED, Tricolor - Red/Blue/White - REAR HATCH WARNING LIGHTS	4	134.75	539.00T
WPS 36-53805	PUSH BUMPER SETUP Bumper Push Bar; Elite TM XD; Powder Coated; Black; Steel; 3 Inch Diameter; Without Wraparound Brush Guard; For Use With Optional Top Channel (Sold Separately); With Mounting	2	696.00	1,392.00T
WPS 36-53805PB	Brackets Bumper Guard; Elite ™ XD; Powder Coated; Black; Steel; Requires Westin Public Safety Bumper Push Bar	2	525.00	1,050.00T
WPS 36-6015SMP2	Bumper Push Bar Bumper Push Bar Top Channel Cover; Elite; For Westin Elite Series Bumper Push Bar; With 2 Soundoff MR6 Code Light Mounting Holes; Powder Coated; Black; Steel	2	49.99	99.98T
SOS ENGSA582RSP SOS ETSS100J	SIREN 500 series remote siren with button control, 10-16v 100J Series Composite Speaker w/ Universal Bail Bracket - 100 watt	2 4	1,049.50 189.99	2,099.00T 759.96T
TPS CC-WBOS-20	CONSOLE UNIVERSAL 20" WIDE-BODY CONSOLE WITH OPEN STORAGE	2	609.50	1,219.00T
TPS AC-TH15-WB NG ORDER NG ORDER NG ORDER	2015-20 Tahoe wide-body floor mount TPS FP-SO500-R SOUNDOFF FACEPLATE ICOM RADIO FACEPLATE FP-DECORA 2" face plate w/ (1) AC duplex	2 2 2 2 2	0.00 0.00 0.00 39.99	0.00T 0.00T 0.00T 79.98T
TPS FP-BLNK1 TPS FP-BLNK2 TPS FP-USB-2DC	outlet cut-out. Includes duplex outlet 1" BLANK FILLER PLATE 2" BLANK FILLER PLATE 2" FACEPLATE DC OUTLET / USB CUTOUTS	4 6 2	0.00 0.00 58.50	0.00T 0.00T 117.00T
TPS AC-INBHG	ELECTRONICS INCLUDED INTERNAL DUAL BEVERAGE HOLDER	2	49.95	99.90T
Phone #	(916) 423-5052	- Total		
Web Site	NEXTGENALPHAUPFITTING.NET			

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #	
8/5/2022	22229	

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
TPS AC-MCM1	MICROPHONE CLIP PLATE AND CLIP ASSEMBLY	4	12.99	51.96T
NG ORDER	TPS CM-SDMT-SL-LED CONSOLE SIDE-MOUNT WITH ROTATING & EXTENDABLE SLIDE -ARM	2	435.00	870.00T
TPS AC-SIDEARM-6 NG ORDER	6" SIDE-MOUNT ARM REST CENTER CONSOLE USB EXTENSION (OEM)	2 2	88.75 19.99	177.50T 39.98T
	OVERHEARD GUNLOCK			
TPS GM-SGL-MNT TPS GM-B-SC1AR-BKT	SINGLE WEAPON MOUNT CLAMSHELL STYLE WEAPON LOCK BRACKET FOR AR STYLE RIFLES	2 2	192.45 58.00	384.90T 116.00T
TPS SC6-2	SC-6 UNIVERSAL RATCHETING GUNLOCK WITH #2 KEY	2	169.99	339.98T
NG INSTALATION	CUSTOM OVERHEAD GUNLOCK MOUNTING	2	350.00	700.00
NG ORDER	DOCKING STATION GETAC S410 - DOCKING STATION MOUNT WITH POWER	4	1,295.00	5,180.00T
NG ORDER	GETAC S410 DOCKING STATION POWER SUPPLY	4	189.99	759.96 T
NG ORDER	TROY REAR COMMAND TPS AS-CP-2D7-MD-GB48-PB - REAR COMMAND BOX PER LATHROP TROY SPEC	2	5,985.00	11,970.00T
NG ORDER	TPS CP-FSWB-MFD REAR MAP BOARD POP UP	2	715.50	1,431.00T
NG ORDER	TPS CM-DH-SLDK-LED REAR COMPUTER SLIDE MOUNT	2	475.00	950.00T
NG ORDER NG ORDER TPS FP-BLNK2	2000w power invertor ICOM RADIO FACEPLATE 2" BLANK FILLER PLATE	2 2 2	259.99 39.99 12.99	519.98T 79.98T 25.98T
NG ORDER	AC POWER ACCESSORIES AND REAR PLATES	2	125.00	250.00T
NG INSTALATION	REAR COMMAND BOX INSTALLATION WITH POWER ACCESSORIES WITH DOCKING STATION AND MOUNTING	2	825.00	1,650.00
Phone #	(916) 423-5052			
Web Site	NEXTGENALPHAUPFITTING.NET	- Total		

8400 Carbide Ct Suite A Sacramento CA 95828

Estimate

Date	Estimate #	
8/5/2022	22229	

Name / Address

Lathrop Pd 940 River Islands Parkway, Lathrop CA 95330

Item	Description	Qty	Rate	Total
NG CUSTOM	REAR ELECTRONICS COVER PLATE AND BRACKETS	2	250.00	500.00T
NG ORDER NG ORDER TSO 78815	ACCESSORIES NG PAR46N LED SPOTLIGHT REPLACEMENT RADIO ANTENNA WHIP 17 FT RG58 The Laird MB8U vehicle roof mount antenna installation hardware kit is for Motorola-style mobile antennas, 0 – 1000 MHz. This NMO mount is an all brass permanent mount	4 2 4	245.00 66.85 19.99	980.00T 133.70T 79.96T
NG ORDER NG ORDER	for a 3/4 in hole. JD 425-3816 MAGNETIC MIC NG7615 12V SOLENOID TIMER UNIT ADJUSTABLE	4 2	44.95 189.99	179.80T 379.98T
NG ORDER	100A WG AUTOMOTIVE 12V CIRCUIT	2	32.49	64.98T
BSS 5026	BREAKER ST Blade Fuse Block - 12 Circuits with Negative	2	49.99	99.98T
NG SHIP IN NG INSTALATION	Bus and Cover SHIPPING IN COST FROM VENDOR INSTALLATION OF CUSTOMER SUPPLIED	2 2	525.00 1,125.00	1,050.00 2,250.00T
NG SHOP SUPPLIES	MODEM, RADIO AND AXON SYSTEM(PRE-WIRE IF POSSIBLE) SHOP SUPPLIES - TO INCLUDE VEHICLE UPFIT - BRACKETS, FUSES, CLAMPS, WIRES, LOOM, MISC ACCESSORIES	2	350.00	700.00T
NG INSTALATION	INSTALLATION LABOR CHARGE FOR ABOVE EQUIPMENT PER LATHROP POLICE DEPARTMENT SPEC	2	3,525.00	7,050.00
	REAR TAHOE OEM SEATS NEEDED Sales Tax		7.75%	3,541.10
Phone #	(916) 423-5052			
		- Total \$59,682.7		# #0 /00 #0
Web Site	NEXTGENALPHAUPFITTING.NET			\$59,682.72